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11 Stick roh
unbeschnitten

4 Stuck roh
= 20 Stuck fertig

2 Stlick roh
= 6 Stlck fertig

2 Stlck roh
= 2 x 2 Stuck fertig

1 Stick roh
= 4 Stuck fertig

2 Stuck roh
= 2 Stuck fertig

2 Stuck roh
= 2 Stuck fertig

A -1,8x20,0x200,0

24 Stiick roh, davon werden
13 Stiick zugeschnitten

B-1,8x20,0 B-1,8x20,0 B-1,8x20,0 B-1,8x20,0 B-1,8x20,0 Rest
x 36,4 x 36,4 x 36,4 x 36,4 x 36,4
P 36,4 0j4 36,4 s 36,4 o 36,4 ds 36,4 s
C-1,8x20,0 C-1,8x20,0 C-1,8x20,0 Rest
x 60,0 x 60,0 x 60,0
- 60,0 oj4 60,0 0j4 60,0 g
F-18x17,0x 187,2
187,2 Rest
G-1,8x2,5x187,2
C-1,8x20,0 B4 — 1,8 x B4 — 1,8 x B4 -1,8x Rest
x 60,0 20,0 x 36,4 20,0 x 36,4 20,0 x 36,4
) ) M
. 60,0 o4 36,4 o 36,4 04 36,4 N
H-1,8x20,0x 187,2
Rest
187,2
1-1,8x20,0x189,0
Rest
189,0
2xD-35x4,0x53,0 2xD-35x4,0x53,0 2xE-3,5x4,0x36,0 2xE-3,5x4,0x 36,0
- 53,0 L 53,0 i 36,0 L 36,0 -




